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UGC NET PAPER 3 NOVEMBER 5, 2017 SHIFT 1 YOGA QUESTION PAPER

Note : This paper contains sevenlty five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. What is the right meaning of “Yogah Karmasu Kaushalam” 7
(1) Clevered aclion (2)  Selfless aclion
(3)  Skilled action (4) Perfect action

2. Indian Prime Minister Shri Narendra Modi participated in the Third International Day of
Yoga-2017 at :

(1)  Lucknow (2)  Ahmedabad (3)  Chandigarh (4)  New Delhi
3.  The nature of Chitta is :
(1)  Unconscious (2}  Conscious (3)  Selfenlightened (4) Seer
4.  According to Prashnopanishad, which of the [ollowing combinations is included under
Rav1 :
(1)  Surva, Sthula, Krishna, Dina
(2)  Sukshma, Surva, Dina, Shukla
(3)  Sukshma, Chandra, Dina, Shukla
(4)  Sthula, Chandra, Ratri, Krishna
5.  The Philosophy of Yoga Vashistha is called as :
(1)  Dvaita (2)  Advaila (3)  Dvwvaitadvaita  (4) Vishishladvaita
6.  Which of the following 1s included in “Chaturvyuha™ ?

(1) Vitarka, Vichar, Ananda, Asmita
(2)  Jnana, Dharma, Aishvarva, Vairagva
3)

(:

Maitri, Karuna, Mudita, Upeksha

(4) IHeva, Hevahetu, Haan, Haanopayva

7.  According to Maharshi Patanjali, the cause of sufferings is the association of :
(1)  Drashta and Guna (2)  Drashta and Chitta

(3)  Drashta and Drishva (4) Jeevatma and Parmatma
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“Sarvaratnopasthanam” is the result of :

(1)  Aparigraha (2) Pratyahara (3)  Satlva (4)  Asleva

Dharana, Dhyvana and Samadhi are the Bahiranga of :
(1)  Sampragyata Samadhi (2)  Nirbeeja Samadhi
(ﬁ?f) Pratyaha Td (—1-) Knva \"(_‘}ga

According to Gheranda Sambhita, which of the following is the best method of Dhyana 7
(1) Pranava (2)  Sthula Dhyana
(3)  Jyvoti Dhyana (4)  Sukshma Dhyana

According to Shiva Samhila, how many rounds of kumbhaka should be practised at a
timo :

(1) 20 (2) 40 (3) 60 4) 80

Which structure of the living cell is responsible for biological protein synthesis -
(1)  Golgi Apparatus (2)  Mitochondria

(3)  Lysosome (4)  Ribosome

In young children, the deliciency of vitamin D leads to :

(1) Rickets (2) Osteomalacia  (3)  Osleoporosis (4) Keratomalacia

Studying the behaviour of abnormal individuals is called :

(1) Introspection (2)  Psycho-analysis
(3)  Observation (4)  Differential Method

Which dimension of health is not mentlioned in the definition of Health, according to World
[Health Organization ?

(1) Physical (2) Mental (3)  Spiritual (4)  Social

In delinition of Avurveda, which dimension of Ayu is not mentioned ?

(1)  Hitayu (2)  Ahitayu (3)  Sukhayu (4)  Dirghavu

On the basis of Satva, Rajas and Tamas, the tolal number of Manas Prakrili are :

(1) 10 (2) 12 () 14 4) 16
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Result of Apara Vairagya is :
(1) Vivekakhvali

(3)  Asampragyvata Samadhi

“Vyoma Chakra” is the synonym of :
(1)  Gvana Mudra
(3)  Mula Bandha

For a teacher, verbal and non-verbal expressions are the two components of ¢

(1)  Conlidence

(3)  TPatience

Chitta includes :
(a)  Mind

(b)  Intellect
()  Fgo

(d) Prana

el
()

el
@)

Sampragvata Samadhi

Dharmamegha Samadhi

Khechari Mudra

Vipritakarni

Communicaltion

Empathy

Find the correct combination according to the code :

Code :
(1) (a), (b) and (c) are correct (2)
(3}  (c) and (d) are correct (4)

I'he characteristics of Sthitapragyva Purusha, according to Bhagvadgeeta are :

(a) Involvement in Social work
(b)  Devoid of Raga and Dvesha
(¢)  Detachment from Indriva Vishaya

(d)  Desire of Sukha

(b) and (d) are correct

(a) and (d) arc correct

Find the correct combination according to the code :

Code :

(1) (a) and (b) are correct (2)
(3} (b) and (¢) are correct (4)

(¢) and (d) are correct

(b) and (d) are correct
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23.  The causes of Vvadhi {disease), according to Yoga Vashistha are :
(a)  Altachment and Halred
(b)  Lack of Knowledge
(¢)  Imbalance of Kapha and Pitta
(d)  Impure Diel

Find the correct combination according to the code :

Code :
(1)  (a) and (c) arc correct (2)  (b) and (d) are correct
(3) (<) and (d) are correct (4)  (a) and (b} are correct

24.  According to voga Vashistha, the causes of “Adhi” are :
(a) Increase of Kapha and Pilta
(b)  Attachment and Hatred
(c)  Impure Food
(d)  Non-[ulfilment of desires

Find the correct combinmation ac?cording to the code -

Code :
(1)  (a) and (b) arc correct (2} (b) and (¢} are correct
(3) (¢} and (d) are correct (4)  (b) and (d) are correct

25.  According to Bhagvadgecta, which types of karma are not the cause of bondagoe :
(a) Samajika Karma
(b)  Nishkama Karma
(¢} Karma Offered to God
(d)  Sakama Karma
Find the ecorrect combination according to the code :
Code :
(1) (a) and (d) are correct (2) (b) and (c) are correct

(3) (<) and (d) are correct (4)  (a) and (b) are correct
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According to Patanjali, “Kayasampat” includes of :
(a)  Graceful and beautiful body

(b)  Strengthful body

(¢)  Firm and compact body

(d)  THealthy and Flexible body

Find the correct combination according to the code :

Code :
(1) (a), (¢) and (d) arc correct (2)  (b), (¢) and (d) arc correct
(3) (&), (b) and (¢} are correct (4) () and (d) are correct

According to Yoga Sutra, the methods of getting perfection in Asana are

(a) Pranavama

(b)  Prayatna Shaithilya
(c)  Ananta Samapatli
(d) Pratvahara

Find the correct combinmation ac?cording to the code -

Code :
(1) (b) and (¢} arc correct (2}  (a) and (b) arc correct
(3)  (b) and (d) are correct (4) (¢} and (d) are correct

Benefits of Kriva Yoga are :

(a) Kaivalva

(b)  Reduction of afflictions

(¢)  Leads to samadhi

(d)  Skill in action

Find the ecorrect combination according to the code :

Code :

(1) (b} and (d) are correct (2)  (a) and (b) are correct

(3)  (b) and (¢) are correct (4} () and (d) are correct
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29.  According lo Hatha Pradeepika, what are the benefits of Neti Karma :
(a) Kapala Shodhan
(b)  Divva Drishli
(c)  Agni Sandeepan
(d)  Jatroordhva Roganasha

Find the correct combination according to the code :

Code :
(1) (a), (b) and (c) are correct (2)  (a), (b) and (d) are correct
(3) (b)), (¢) and (d) are correct (4) (a), (¢) and (d) are correct

30. The word "Kaivalya” 1s mentioned in which of the following Texts of yoga ?
(a) Tlatha Ratnavali
(b)  Siddha Siddhanta Paddhati
(c)  Patanjali Yoga Sulra
(d)  Gheranda Samhita

Find the correct combination according to the code :

Code :
(1) (a) and (b) are correct (2)  (a), (b) and (c) are correct
(3} (a) and (¢) are correct (4) (b}, (¢) and (d) are correct

31. According to Shiva Sambhita, out of 8 Asanas which main asanas ought to be adopted :
(a) Siddhasana, Padmasana
(b)  Ugrasana, Swastikasana
(¢c)  Simhasana, Bhadrasana
(d)  Padmasana, Stmhasana
Find the correct combination according to the code :
Code :
(1) (a) and (c) are correct (2)  (a) and (b) are correcl

(3)  (b) and (d) are correct (4)  (b) and (c) are correct
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32.  According to Hatha Ratnavali, “The Maha Yoga” includes :
(a) Mantra Yoga, Lava Yoga
(b)  Karma Yoga, I'atha Yopa
(¢)  Hatha Yoga, Raja Yoga
(d)  Gyvana Yoga, Raja Yoga

Find the correct combination according to the code :

Code :
(1) (a) and (b) arc correct (2} (b) and (¢} are correct
(3) (<) and (d) are correct (4)  (a) and (¢) are correct

33.  Which of the following are not the types of Antardhauti, according to Gheranda Sambhita ?
(a)  Vahnisara dhauli
(b)  Bahishkrita dhauti
(c) Vamana dhauli
(d) Danda dhauti

Find the correct combinmation ac?cording to the code -

Code :
(1} (a) and (d) arc correct (2}  (a) and (b) arc correct
(3)  (b) and (c) are correct (4) (¢} and (d) are correct

34. Which glands of body are exocrime in nature ?
(a) Pituitary

(b)  Liver

(¢)  Salivary Gland

(d)  Thyroid

Find the ecorrect combination according to the code :

Code :

(1) (a), (b) and (c) arc correct (2) (b}, (¢) and (d) are correct

(3)  (b) and (¢) are correct (4)  (a) and (d) are correct
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Which of the following are the functions of Respiratory system ?
(a) Ventilation

(h)  Vision

(¢} Process of smelling

(d) Creation of sound

Find the correct combination according to the code ;

Code :
(1) (a) and (d) are correct (2) (a) and (c) are correct
(3)  (a), (¢) and (d) arc correct (4)  (a), (b) and (¢) arc correct

Stvana, Samshaya, Avirati, Bhranti Darshan are included under :
(a) Antarava

(h)  Chitta Vikshepa

(c) Sahabhuva

(d)  Upavikshepa

Find the correct combination according to the code :

Code :
(1) (b) and (c) arc correct (2)  (a) and (b) are correct
(3) (a) and (d) are correct (4) (a) and (c) are correct

Which of the fﬂl]c.'}wing types of foods are not beneficial for individuals of Pitta Prakrit ?

(a) Sour

(b)  Sweet

(c)  Pungent

(d) Cold

Find the correct combination according to the code :
Code :

(1) (b) and (d) (2)  (c) and (d) () (b) and (c) (4)

(a) and (c)
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According to Avurvedic texts, discases occur mainly due Lo :
(a)  Imbalance of Dosha

(b)  Loss of Immunity

(¢c)  Malnutrition

(d)  Imbalance of Dhatu

Find the correct combination according to the code :

Code :
(1) (b} and (c) are correct (2)  (a) and (b) are correcl
(3) () and (d) are correct (4} (&) and (d) are correct

As por rescarch evidences, reduction in Blood Pressure is associated with .

(a) Decrease in Catecholamines
(b)  Increase in Catecholamines
(c)  Decrease in Corlisol
(d)  Increase in Cortisol

Find the correct combination according to the code :

Code :
(1)  (b) and (c) are correct (2)  (a) and (c) are correct
(3)  (b) and (d) are correct (4)  (a) and (d) are correct

Which of the following are balancing asanas ?

(a) Garudasana

(b)  Trikonasana

(c)  Natarajasana

(d)  Katichakrasana

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (¢} and (d) are correct

(3} (b) and (c) are correct (4) (a) and (c) are correct
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Given below are two statements, labelled as Assertion (A), and a Reason (R). [Indicate your
answer from the alternatives below :

Assertion (A) : Vidya leads to immortality.

Reason (R) : Tlattvajnana is the means to attain Moksha.

In the context of above two statements, which one of the tollowing is correct ?
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2}  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A) is true, but (R} is false,

(4)  (A) 1s false, but (R) 1s truc.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Mitahara 1s cssential for practice of yvoga.

Reason (R) : Intake of Sweet and Unctuous food and remaining one fourth part of
stomach empty are the characteristics of Mitahara.

In the context of above two stalements, which one of the following is correct ?
Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) is true, but (R) 1s false.

(A) is false, but (R) is true,

Given below are two statements, labelled as Assertion (A), and a Reason (R). [Indicate your
answer from the alternatives below :

Assertion (A) @ Impure Nadis are the obstacles in the stage of Unmanibhava.
Reason (R) : Nadi shodhana is essential before the practice of pranavama.
In the context of above two statements, which one of the tollowing is correct ?
Both (A) and (R) are true and (R) 1s the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) is true, but (R) 1s false.

(A) is false, but (R) is true,
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Given below are two statements, labelled as Assertion (A), and a Reason (R). [Indicate your
answer from the alternatives below :

Assertion (A) : In Jaundice there 1s vellowish discoloration of skin and mucous membranc,
Reason (R) : Jaundice occurs due to increased level of serum Bilirubin.

In the conlext of above two statements, which one of the lollowing 1s correct ?

(1) Both {(A) and (R) are truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3} (A)1s true, but (R) 15 false

(4)  (A) is false, bul (R) is lrue

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer {rom the alternalives below :

Assertion (A) : Observation method in psvchology 1s a popular method of assessing
personality.

Reason (R) : Observation is to study the behaviour pattern of an individual in actual life
situation.

In the context of above two sltalements, which one of the [ollowing is correct ?

1 Both (A) and (R) are true and (R) 1s the correct explanation of (A).

2} Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(1)
(2)
(3)  (A) is true, but (R) 15 false.
(4)  (A) 1s false, but (R) is truc.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer [rom the alternalives below :

Assertion (A) @ Satvika [ood is good [or a Yoga Practitioner,
Reason (R) : Sour, salty, stale and impure food should not be taken by a voga practitioner.
In the context of above lwo slalements, which one of the [ollowing is correct ?

Both (A) and (R) are truc and (R} 1s the correct explanation of {A).

3} (A) is true, but (R) 1s false.

(1)
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)
(4)

(A) 15 false, but (R} is truc.
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Given below are two statements, labelled as Assertion (A), and a Reason (R). [Indicate your
answer from the alternatives below :

Assertion (A) : Naukasana is benelicial for obese persons.

Reason (R) : Naukasana compresses abdomen, stimulates digestive power and thereby
helps in reducing the abdominal fat,

In the conlext of above two statements, which one of the following 1s correct ?
(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  Both (A) and (R) are true, and (R) is the correct explanation of (A).

(3)  (A) is true, but (R) 15 false.

Given below are lwo statements, labelled as Assertion (A), and a Reason (IR). Indicale your
answoer from the altermatives below ¢

Assertion (A) @ Processed meat is Carcinogenic,

Reason (R) : Evidences [rom scienlific studies show direct association between ealing
processed meat and developing colorectal cancer.

In the context of above two stalements, which one of the following is correct ?
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(
(:
(4)  (A) is [alse, but (R) is true.

[~

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

L)

)
) (A)is true, but (R) is falsc.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer [rom the alternalives below :

Assertion (A) : Maeditation helps in relieving, stress related migraine.

Reason (R) : Practice of meditation decreases secretion of cortisol, relaxes mind and
thereby relieves stress related migraine.

In the context of above two statements, which one of the following 1s correct ?

Both (A) and (R) are truc and (R) 1s the correct explanation of (A).
3} (A) is true, but (R) 1s false.
4

(1)
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)
(4)

(A) 15 false, but (R} is truc.
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Given below are two statements, labelled as Assertion (A), and a Reason (R). [Indicate your
answer from the alternatives below :

Assertion (A) : Commumity scrves as a great teaching aid.

Reason (R) : Several facts can be taught vividly by making the students observe the
community development projects.

In the context of above two statements, which one of the following is correct ?
Both (A) and (R) are true and (R) 1s the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) 1s true, but (R) is falsce.

(A) is false, but (R) is true.

[dentify the correct sequence of the chapters of Yoga Sutras.
(a) Sadhana pada
(b)  Kaivalya pada
(c)  Samadhi pada
(d)  Vibhoott pada

Use the code given below for correct answer :

Code :
(1) (&), (¢). (d), (b) (2) (b}, (&), (¢}, (d)
(3)  (a) (&), (d), (b) (4)  (a), (c), (b), (d)

According to Yoga Vashistha, arrange the following stages of Yoga in sequential order :
(a)  Vilapani

(b)  Manana

(¢)  Brahmavit

(d)  Shravana

(¢)  Nididhvasana

Use the code given below for correct answer :

Code :
(1) (b), {e), (d), (a), () (2)  (b), (d), (e), (), ()
(3)  (d), (b), (&), (), (©) (4)  (d), (b), (&), (c), (&)
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Arrange the following stages of chitta in a sequential order :
(a) Vikshipta

(b) Ekagra

(c)  Niruddha

(d) Kshipta

Use the code given below for correct answer :

Code :
1) (@, @, B © @ (@), @ O ©
(3) (@), (D), (), (b) (4)  (d), (a), (), (b)

Arrange the following practices mentioned by Gheranda Rishi in the sequential order to be

followed before Pranavama :

(a) Mitahara

(by  Time

(c)  Nadishuddhi

(d)  TPlace

Use the code given below for correct answer :

Code :
(1) {d) (b), (a), (¢) (2)  (b), (d), (a). ()
(3) ), (bY, (d), () (4) {d); (b), (¢), (a)

Arrange the following parts of large intesline in a sequential order :
(a) Colon

(b)  Rectum

(c) Caccum

(d)  Anal canal

Use the code given below for correct answer :

Code :

(1) (a), ( ):

(c), (d) (2)
(3) () (a), (b

<), (d (a), (¢
) (d) (£)  (a) (c), (), (b)

According lto production, arrange the following dhatus in sequential order :

(a)  Meda

(b)y  Asthi

(c) Mansa

(d) Rakta

(e)  Majja

Use the code given below for correct answor ¢

Code :
1) (@), @), © 0 @ @ @ @) b)©
(3) (&), (), (d), (e), (b) (4) (<) (a), (d), (e), (b)
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57. ldentify the correct sequence of the pranic body, starting from the top :
(a) Prana
(bhy  Udana
(c) Apana
(d)  Samana

Use the code given below for correct answer ;

Code :
(1) (a), {c), (d), (b) (2) (k). (), (d), (¢)
(3)  (c) (a), (d), (b) (4) (@) (c), (b), (d)

58. Arrange the following asanas of Laghu Shankhprakshalana method in a sequential order :
(a) Katichakrasana
(h)  Tadasana
(c)  Tiryaka Bhujangasana
(d)  Udarakarshasana
(e}  Tirvaka Tadasana
Use the code given below for correcl answer ;
Code :
(1) (), (e), (), (0) (d)
(3)  (b), (e), (c), (a), (d)

P
o
e

(e}, (b), (c), (a). (d)
(e), (1), (@), (c). (d)

—
et

59. ldentily the correct sequence of teaching stages :
(a) Teaching

(b)  Joints Exercise

(¢} Practice

(d)  Recreation

Use the code given below for correcl answer :

Code :
(1) (@), © ), ® @) ®) @) (© @
(3) (<) (a), (d), (b) 1) (a), (), (b), (d)

60. ldenlify the correct sequence of presentation in yoga teaching.
(a) Demonstration
(b)  Ewvaluation
(¢)  Explanation
(d)  Discussion

Use the code given below for correcl answer :

Code :
(1) (@), © ), ® @) ®) @) (© @
(3) (<) (a), (d), (b) 1) (a), (), (b), (d)
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(1) (b), {e), (), (o), ( d) (2} (e), (B), (c), (@), (d)
(3)  (b), (), (c), (a), (d) (4) (o), (b), (a), (), (d
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(1) (a), {c), (d), (b) (2)  (b), (@), (¢), (d)
(3)  (c) (a), (d), (b) (4) (), (), (b), (d)
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Fe :

(1) (a), {c), (d), (b) (2)  (b), (a), (¢), (d)
(3)  (c). (&), (d), (b) (4 (a), (), (b), (d)
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Match the List-I with List-II and select the correct answer using the code given below :

[ist-1 List-11
(a)  Vedana (1) Roop
(b)  Aadarsha (1)  Gandha
(c) Varta (i1i) Shabda
(d) Shravana (iv) Sparsha
Code :

@ (b) (¢} (d)
(1 @) (v () (i)
(2)  Gv) () (1) (i)
(3) () @) @ (v)
(4 ) @) (Gv) ()

Match the List-I with List-IT and select the correct answer using the code given below :
List-I List-II

(a) Satya (i)  Klesha
(b)  Tapa (i) Yama
(c)  Abhinivesha (iii)  Chitta Vritti
(d)  Nidra (iv)  Kriva Yoga
Code :
(a)  (b) (e} (d)
(1) Gv) () () (5
(2) (ui) (G (@ (i)
(3) () vy (1) (1)
(3)  (w) () () ()

Malch the List-I with List-IT and select the correct answer using the code given below :
List-I List-II

(a) DPramana 1)  lalse Knowledge
(b)  Vikalpa (i)  True Knowledge
(c) Viparyava (111} Absence of thoughts
(d)  Nidra (iv]  Tmaginary Knowledge
Code :

@ ®) (© (d
o) O G @ W
@ ) 0 )
@) @ (v @ G
@ ) 0 @) (i)
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(2) () ) @) (1)
(3) () Gv) (@) (i)
(4) (iv) (i) (il (1)
Tl - 1 oh1 F=I - 11 |19 gaferd &Y AR/ A= 920 T 2 61 9ai hid g0 6al 3o g
- 1 T - 11
(a) 9HIT (i) eI
(by faewed (i) = 7
(c) faea (i) Ta=ml w1 AT
(d) T=n (iv) =rediT= 1
he
(@) (b) () (d)
() ) @ @) (v)
(2)  (w) (1) () (i)
(3) () v) (1) (i)
(4) (i) (@)  (v) (i)
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64.

63.

Match the List-I with List-II and select the correct answer using the code given below :

[.ist-1
(a)  Maitri
(b)  Karuna
(c)  Upecksha
(d)  Mudita
Code :

(@) (b)
(1) (v} (i)
(2) () (v)
(3) (i) (iv)
(4 Gv) ()

According to Gheranda Samhita, Match the List-I with List-II and select the correct answer

Iist-11
1)  Paapa Karmi
1) Sukhi
iii)  Punya karmi
iv)  Dukhi

using the code given below :

prepp

Your Personal Exams Guide

list-1 List-1I
(Samadhi) (Sadhana)
(a) Dhyana Yoga (1)  Manomurchha Mudra
(b)  Nada Yoga (1)  Kumbhaka
(c)  Bhakti Yoga (1)  Shambhavi Mudra
(d) Raja Yoga (iv)  Khechari Mudra
Code :
@ (b)) (¢} (d)
(L) @) @ Gv) ()
@ @ v O )
(3 Ov) @ G ()
@ 6 @ Gv) )

66. Malch the List-I with List-IT and seclect the correct answer usine the code eiven below
[ (EJ

List-I List-II
(a) Pancreas (I)  Vasopressin
(b)  Thyroid Gland (if)y  Corticoids
(c)  Pituitary Gland (iify  Thyroxin
(d)  Adrenal Gland (iv) Insulin
Code :

(@) () (@ (@

1) Gv G @0
@ 0 ) @) )
G @ O ) @
@ (v @) O a6
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64.

65,

66.
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T - 1 %1 =T - 11 |19 gHlerd i SR A 198 T 312 61 9aR &d g0 Hal S I

=i - | = - 11
(a) HAT () 9w
(b) = (i) |
(c) IHe (it) gv HHI
(d) Hfem (iv) 3Hl
che :

@ ® ©
O v @ 0O
@ () @) O i
() () (v) @)
@ v @) W

(a3

TS Higdl o STHR G - 11 G - 11 3 91 gaferd =1 S e fed 73 w2 =1 979 i g uel
o) ™, =~ LY il &
ST T:!)_:!

=l - 1 = - 1
( T ) ( |TeT )
(a) = AT (i)  Fest gE]
(b) & A (i) FHIH
(c) e g1 (i1} IIEel HeT
(d) TSN (iv) el Tl
<hd ;
(@) (b) (o) (d)
(1) (@ () (v) (i)
(2) (i) (v) (1) (i)
3)  (v) () (i) (i)
(4) () (@) (iv) (i)

H?‘ﬁ IE‘HTW IIE‘FHT&T Hri q EFJ{ q’:?]T -I[T.{ |f‘€4 t|e,{ qr,:* =] H"*H*I Ch{“l gl 'H{l Eq,:,}ﬂfrq T‘b

I - 1 e - 11
(a) TR (i)  SHE
(by &g U (i) HIfEHAZT
(c) e e (i) emtEe
(d) slesen Uiy (iv) =g
ehe

(@ (b) (o) (d)
(1) (iv) (i) (i) (i)
(2) (i) (i) (i) (iv)
(3)  (v) (1) (1) (111
@ v) G 6 )
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63.

69.
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Match the List-I with List-1I and sclect the correct answeoer using the code given below

List-I
(a) Vitamin A (1)
(b)  Vitamin D (i1)
(c)  Vitamin K (iii)
(d)  Iron (iv)
Code :

(@) (b) (¢} (d)
G 0 @ )
@ 0 G) () )
@) () @ G )
@ 0 Gi) () ()

List-II
Build strong bones
Fssential for Hb formation
Vital to good vision

Essential for blood clotting

Match the List-I with List-IT and select the correct answer using the code given below :

List-I
(a) Namaskarasana
(b) Padahastlasana
(c) Hasta-Ultanasana
(d)  Ashvasanchalanasana
Code :

(@) (b) () (d)
() () () @v) ()
2) () @y @ (@)
(3) (i) () @ (i)
@ (D) (v) (@) (i)

List-II
(i)  Om Ravaye Namah
(i1)  Om Mitrayva Namah
(iif) Om Suryaya Namah

(1v) Om Bhanave Namah

Match the List-I with List-IT and select the correct answer using the code given below ¢

List-I

List-11

(a) Trial and error learning (1)  Pavlov

(b)  Learning by conditioning  (if)  Kohler

(c) Learning by insight

(d)  Operant conditioning

(@) (b) () |
1) @ () 4
(2) ) vy @ (1)
@) () @ ) (i
(4)  (v) @ ) |

(111)  Skinmer
(iv) Thorndike
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il - 1
(a) Terrfaa A (i)
(by TaerfaT D (i1)
(¢) Tererfaa K (iii)
(d) i T (iv)
<hd ;

(@) (b) (c) (d)
() (m) @ @) (v
(2) (@ ) () (1)
(3) (i) @) (v) (i)
(4) () @) () (iv)

68.

T - 1
(a) THERNTHA
(b)  HIeEsTHA
(¢) TE-SHA
(d)  STIH=ETAHEA
che :

(@) (b) (c) (d)
(1) (i) (i) (v) (1)
(2) () () (@) (iv)
(3) () (1) ) (iv)
(4) () Gv) (@) (i)

69,

el - 1

(a) e HR i Al
(b) AT G AETH
(c) gl grT S1fHm
(d) HYERRl T
che :

(@) (k) (o) (d)
(1) ) Gv) (1) (1
(2) () (v) (1) (i
(3)y (v} (1) (i)  (iil)
(4)  Gv) @ @) ()

=il - 11
= B £
el 22dl ol Hled a1 ©
grmrafe frmfm &g sifer
st gfte & for stavas

[

F o stfgard
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T - 1 %1 =T - 11 |19 gHlerd i SR A 198 T 312 61 9aR &d g0 Hal S I

-

= - 11
(i) 3% Y AH:
(i) % TH=mg 4.
(i) 3% FAH TH:
(iv) 3% Hel 79

AT - 11
() e
(i) IR
(iif) TEwY
(iv) SIEKCAEET

It - 131 =it - 113 |17 gofera &L 3R 9= 57 72 e =1 v & 30wl fomey =4

Tt - 1 31 =T - 113 91 gAfad i &K 919 &8 T %2 1 960 F3d g0 66l S I

B
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70. Match the List-I with List-IT and select the correct answer using the code given below :

[ist-1
(Brain Waves)
(a)  Alpha
(b)  Beta

list-11

(State)
1) Super consciousness
i)  Agitated

(c}  Theta
(d)  Delta

1) Relaxed
iv)  Meditative

(c)
(1) ()
(di) (v) ()
) (i) ()
(i)

(4) () v) (1) (i
Read the following paragraph carefully and answer the five questions (Question no. 71 to 75) :
According o voga philosophy there are four main aims of human life. These are Dharma
(sense of duty), Artha (material needs), Kama (enjoyments) and Moksha (spiritual realization).
Dharma is the careful observation of one’s ethical, social, intellectual and religious duties in daily
life. Without ethical qualily, spiritual attainment is not possible, so it must be {ollowed through oul
life. Artha is acquisition of wealth in order to progress towards higher pursuits of life including
understanding the main purpose of life. One is not meant to be greedy while accumulating wealth,
but only to meet one’s needs to be free from worries. Kama means enjoyment of the pleasures of
life provided one does not lose the health and harmony of body and mind. Kama are aesthetic
longings of human personalily, which include the expression of five senses and salisfaction of
desires. Moksha means freedom from the bondage of worldly pleasures and liberation. Itis possible
onlv when one is free from phyvsical, psychological, intellectual and environmental afflictions. Al
this state person realizes that power, knowledge, wealth and pleasure are merely passing phases
of life. Practice of Ashitangn voga is the best way to achieve all four aims of life.

71.  What is the meaning of Moksha ?
(1)  Sense of duty (2)  Enjoyments

(3)  Spiritual realization (4}  Material needs

72.  Aesthetic longings of human personality are called :
(1) Dharma (2) Kama (3)  Artha (4} Moksha

73.  Acquisition of wealth in order to Progress towards higl'mr pursuits of life is called :

(1}  Dharma (2)  Artha (3] Kama (4)  Moksha
74. Spiritual attainment is not possible without :
(1)  Intellectual quality (2)  Mental quality
3 Physical quality 4 Ethical quality
: 1 , 4 )

75. The best way to achieve all the four aims of lite, is the practice of :
(1)  Gyvana Yoga (2) Karma Yoga (3)  Ashtanga Yoga (4) Bhakti Yoga

-0 o-
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70. EET - 1 %] T - 116 912 Gaferd i SR A= fod T 2 51 Ja0 Fd g0 Hal S/ I

eIl - 1 T - 11

( afisas a3m) ( 3TaTeT )
(a) 3THI (i) =A™ <A
(by ST i) =HfEE
(c) (1) Taga
(d) Ee2 (iv) A
<hd

(a) (b} (c) (d)
(I @) @ @ ()
(2) (i) () (iv) (D)
(3)  (uy (o) (iv) (1)
(4)  (u) (v) (1) (1)

=<l TaU T TTeEyT ahi WIaeTyee: Ue 3N U9 W& 71 | 75 & 30 Qi

AN TN o STTAN 0 Siaq o 9R W@ 9 B A 91 (Hoaed gy, 319 (Jdifae srevasan),
FTH (37 20 gier (zneafenss ay) §1 ud 2fae Sitem o safaq = Sifa-fawaes, gmfsss, snenfos
SIR |ITHaR  Haed] =] WEAYHIYe 9Ted § | Hideh 7701 = TeM1 sreanfcrs Suafed Hyd 931 ¢, 3Hiey, 38
SIS YT 31 AT | 379 SITEH oh IoIa) 38931 bl Ta2l § T ok T, &q-37siA ¢, ToeH e o e
YT W1 Tz O gfmfed §1 ¥9-999 &% 999 SAfad &l ATl T8 e =@ifey, sfesd (g 31T
STEvTeRaTa =1 qid Tl AMGY a1 a8 adl o o 5| 19 1 3194 O ] 7% a4t T 8, 919 T &
% TATESA AR YR Ud AfEash o =19 FEI 1 F @IC | 0 A9 Ao &1 Geiaqut seRian g, faad
qaf=dl sl AT SR SmATsl s Jie i wimfad € 1 Hiel &1 31 Wi gEl o 98T 3 g 3R]
S & | I8 a¥l HHA g, 519 AT I, A, et IR aramEeiig sl | e W@ 2|
e Teeel] H Al AHA Al ¢ [oh YN I, o4 IR 3h5d Y& Sia < A7 diehlicish Hecd & =Ll ¢ |
ST AN SRl WIEAT Sira o 941 =R <90 i Wifta 1 garay i ¢ |

71,  HIe] ] ] Y § 2

(1) 'ﬂuiaq qﬂa (2:] ek if{

(3)  anemfer A (4)  difae smEvasRan
72. T4 PAfFac w ey srEiensti ® e S ©

(1y od (2) =M (3) o1 (4) W
73. Siaq % Ieadl I3 i foyn H wfd & feu e9-2151 1 e I

(1) e (2) = (3) FH (4) @
74, sneATToaes 9ol faer fomm dya =& ©

(1)  sTeATcH=s T (2) HHEfEER T

(3) ORI 70 OEEIGERIL

75. Sied o 94T IR AT T Wit 1 Hatay aden e W ©
(1) A (2) HH M (3) TS A (4) ol I
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prepp

Your Personal Exams Guide



www.prepp.in 'repp

ersonal Exams Guide

Space lor Rough Work



